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INSTRUCTIONS
1. There are 50 Multiple Choice Questions in this paper divided into two sections :
Section A 40 MCQs; 1 Mark each
Section B 10 MCQs; 2 Marks each
Each question has Four Options out of which ONLY ONE is correct.
All questions are compulsory.

There is no negative marking.
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No electric device capable of storing and displaying visual information such
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Section A

1.

10.

11.

Where did the British East India Company established their first factory?

(@) Surat (b) Goa

(c) Pune (d) Mumbai

The Khonds tribe belongs to which of the following regions?

(@) Punjab (b) Kashmir

(c) Odisha (d) Raipur

Which one of the following joined and headed the Revolt of 1857 in Lucknow?
(@) Mangal Pandey (b) Bakht Khan

(c) Nana Saheb (d) Begum Hazrat Mahal

Which one of the following organisation was founded by Dayananda Saraswati in the
year 18757

(@) Brahmo Samaj (b) Prarthana Samaj

(c) Arya Samaj (d) Veda Samaj

Gandhiji started the Dandi March from .

(@) Rajghat (b) Gandhi Smrriti

(c) Sabarmati Ashram (d) Wardha Ashram

The subject like education comes in which of the following lists?

(@) Union List (b) State List

(c) Concurrent List (d) Reserved list

The forests which never shed their leaves are called

(@) Evergreen Forest (b) Montane Forest

(c) Deciduous Forest (d) Littoral Forest

Sand dunes are formed in deserts due to the action of which of the following natural
agents?

(@) Water (b) Wind

(c) Waves (d) Rainfall

Which one of the following is the largest producer of Mica in the world?
(@) Japan (b) China

(c) Russia (d) India

Which of the following countries is not known for rice production?

(@) China (b) India

(c) Japan (d) Sri Lanka

What are the factors that influence the population change in a country?
(a) Birth Rate (b) Death Rate

(c) Migration (d) All of these
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12. A is the natural interconnection of food chains and a graphical
representation of who-eats-what in an ecological community.

(@) Food Web (b) Pyramid
(c) Ecology (d) Environment

13. Which one of the following is not the key feature of Indian Constitution?
(@) Fundamental Rights (b) Federalism
(c) Presidential Form of Government (d) Separation of Powers

14. The members of Lok Sabha are .
(a) elected by the people (b) nominated by the President

(c) nominated by the Prime Minister (d) nominated by Chief Ministers

15. is the mass movement of rock, debris or Earth down a slope.
(@) Volcano (b) Earthquake
(c) Landslides (d) Floods

16. Name the leader who protested against the Rowlatt Act and was/were arrested by the

Britishers.
(@) Dr. Satyapal (b) Dr. Saifuddin Kitchlew
(c) Dadabhai Naoroji (d) Both (a) and (b)

17. Which of the following authorities guarantees Fundamental Rights to the citizens?
(@) Government (b) Parliament
(c) Supreme Court (d) Prime Minister

18. Which among the following is recently included in the list of UNESCO World Heritage
site from India?

(@) Temples of Kanchipuram (b) Ganga Ghats of Varanasi
(c) Satpura Tiger Reserve (d) All of these

19. In which year the Widow Remarriage Act was passed?
(a) 1855 (b) 1856
(c) 1854 (d) 1929

20. What is the total numbers of seats present in the Council of States?
(a) 245 (b) 545
(c) 352 (d) 552

21. The first European who came to India in the year 1498 was
(@) Captain Hawkins (b) Vasco da Gama
(c) Afonso Desouza (d) Robert Clive

22. Which Article of Indian Constitution states equality before law?

(a) Article 14 (b) Article 16
(c) Article 15 (d) Article 25
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23. A bill finally becomes an Act after the assent of .
(@) Prime Minister  (b) President (c) Speaker (d) Vice-President

24. When did the Bhopal Gas tragedy take place?
(a) 2002 (b) 2004 (c) 1984 (d) 1985

25, You can restore all the deleted files from which of the following folders?
(@) My Documents (b) Network Places
(c) My Computer (d) Recycle Bin

26. Which one of the following dams is the highest dam of India?

(@) Tehri Dam (b) Sardar Sarovar Dam
(c) Bhakra Nangal Dam (d) Rihand Dam
27. Who was the first and only officer who reached to the rank of Marshal in the Indian Air
Force?
(@) Arjan Singh (b) Abhinandan Varthaman
(c) R KBhaduria (d) BS Dhanoa

28. In which of the following years Indian Army conducted the surgical strike in Pakistan?
(a) 2018 (b) 2017 (c) 2016 (d) 2020

29. Who was not the part of Indian Cricket Team when India won the Cricket World Cup in
20117

(@) Gautam Gambhir (b) M S Dhoni
(c) Sourav Ganguly (d) Sachin Tendulkar

30. At which of the following places there was no impact of 1857 revolt?
(@) Lucknow (b) Kanpur (c) Mumbai (d) Delhi

31. What is the full form of ADB?
(@) Asia Democratic Bank (b) Arabian Development Bank
(c) Asian Development Bank (d) African Development Bank

32. Which of the following states is the largest producer of iron ore in India?

(@) Jammu and Kashmir (b) Haryana
(c) Odisha (d) Himachal Pradesh

33. Which one of the following activities is considered as secondary activity?
(@) Hunting (b) Weaving of clothes
(c) Transport (d) Advertising

34. Which of the following companies is located in Jamshedpur?
(a) NAL (b) BHEL (c) TISCO (d) BEL

35. Which one of the following animals does not eat flesh and lives in jungle?
(a) Lion (b) Tiger (c) Bear (d) Giraffe
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36. The Congress resolved to fight for Poorna Swaraj in 1929 under the Presidentship of

(@) Mahatma Gandhi (b) Subhash Chandra Bose

(c) Jawaharlal Nehru (d) CR Das
37. On the basis of which language, Andhra Pradesh became the first linguistic state of
India?
(@) Telugu (b) Malayalam
(c) Kannada (d) Punjabi

38. Which of these zones of Earth shows the inter-relation and inter-dependence of living
beings for survival?

(a) Lithosphere (b) Biosphere
(c) Atmosphere (d) Hydrosphere

39. The logo shown in the picture belongs to which of the following organisations?

(@) World Health Organisation (b) World Trade Organisation
(c) European Central Bank (d) United Nations

40. If the person’s clothes catches fire, then the best way to extinguish the fire is
(@) Throw water on the clothes
(b) Use fire extinguisher
(c) Cover the person with woollen blanket
(d) All of the above

Section B

41. The movement started by Birsa Munda identified which of these as the main cause of
the misery of the tribals.

1. British Government
2. Missionaries and Moneylenders
3. Hindu Landlords

Codes
(@) OnlyTand 2 (b) Only 3
(c)Only2and 3 (d) All of these
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42.

43‘

44.

45,

46.

Which of the following statement(s) is/are correct?

1. To print a document, we should give the command Ctrl+V.
2. RAM stands for Random Access Memory.

3. CPU is considered as the brain of computer.

Codes
(@)Tand?2 (b)2and 3
(c)Tand 3 (d) All are correct

Which of the following is true about the Constitution of India?

1. Indian Constitution is an unwritten Constitution.

2. The concept of Judicial review has been taken from USA in our Constitution.
3. Emergency provision have been taken from Weimar Constitution of Germany.
Codes
(@) Only 1 (b) Only 2
(c)2and 3 (d) All are correct

Match the following

Tournament Related to

A.  Australian Open 1. Cricket

B. Grand Prix 2. Football

C. UEFA Championship 3. Racing

D. The Ashes 4. Tennis
Codes

A B C D A B C D

(@) 1 2 3 4 (b) 2 3 41
€03 4 1 2 d 4 3 2 1

Find the mismatched option from the pairs given below

List | (Movement) List Il (Started by)
1. The Aligarh Movement — Dayananda Saraswati
2. Ramakrishna Mission — Swami Vivekananda
3. The Brahmo Samaj — Raja Ram Mohan Roy
Codes
(@) Only 1 (b) Only 2 (c)Only 3 (d) Only2and 3

The judicial system provides a mechanism for resolving disputes between
1. Two Citizens

2. Citizens and the government

3. Central and State Governments

Codes
(@) Only 1 (b) Only 2
(c) Onlyland 2 (d) All of these
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47. Match the following correctly.

List | (Protected Area) List Il (Located in)

A. Harike Lake 1.  Jammu and Kashmir

B. Rudrasagar Lake 2. Punjab

C. Woular Lake 3. Tripura
Codes

A B C A B C

(@) 1 3 2 b) 2 3 1
(c) 3 1 2 (d) 1 2 3

48. Find the pair which is not matched correctly.

Colonial Power Came to India in
A. Portuguese 1. 1500 AD
B. British 2. 1608 AD
C. Dutch 3. 1595 AD
Codes
(@) Only 1 (b) Only 2 (c) Only 3 (d) Only1and 3

49. Which of the following statement(s) is/are correct?
1. Sound is produced by vibrations.
2. Sound requires a medium of propagation.
3. Sound travels slower than light.

Codes
(@) Only 1 (b) Only 2 (c)Only 3 (d) All are correct

50. Consider the following statements.
1. Deaths are usually measured using the death rate.
2. Emigrants are people who arrive in a country.

Which of the above statements is/are correct?

(@) Only 1 (b) Only 2 (c) BothT1and 2 (d) None of these
51. Which of the following country is the first one to launch the ‘Virus Passport'?

(a) India (b) China (c) Ethiopia (d) USA

Answers

1 () 2. (¢ 3. (a) 4. (o) 5. (c) 6. (c) 7. (a) 8. (b) 9. (d

n. (d) 12. (a) 13. (c) 14. (a) 15. (c) 16. (d) 17. (o) 18. (d) 19. ( (a)
21. (b))  22. (a) 23. (b) 24. (q) 25. (d) 26. (@) 27. (@) 28. () 29. ( ()
3. (o) 32. () 33. (b) 34. (o) 35. (d) 36. (c) 37. (a) 38. (b) 39. ( (c)
4. (d) 42. (b) 43. () 44 (d) 45. (a) 46. (d) 47. (b) 48. (d) 49. (d (@)
51. (b)
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